Zlomky

-čitatel                            
-numerator
-číslice                              
-numbers

-dělit                                
-divide

-jmenovatel                         
-denominator
-krát                                
-times

-napíšeme                           
-write   

-násobení                            
- multiplication

-nejmenší společný násobek   
-the least common multiple*
-odčítání                             
- subtraction
-plus                                 
-plus

-převést                             
-lead over

-příklad                             
-example

-rovná se                                   
- equals
-sčítání                               
- addition
-všechna                              
-all

-výsledek                             
-result

-závorka                              
-bracket

-zlom. Čára                           
-broken line
-zlomek                                
-fragment
 2x(1/3+3‘2/5)=2x1/3+17/5=2/1x(15*)5+51=2x56/15=112/15=7‘ 7/15
 We take the number 2 and write it behind the equal and write the sing times(x), we also add the 1/3 plus the number we have to lead over.

 You lead it over -You have to multiplie the number 3x5 and add to the result the number you´v got above  the denominator  number 2 = you get 17/5.
Then you have to find the least common multiple. You have to divide the denominator and the number you just assinged as the least common multiple, then you multiplie it with the numerator you get a number (you write th number 15 under the broken line) = 56/15 
Than you have to (if you can) lead it over into a  mixed number=3´11/15!
